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An administrator has created an SVM and would like to replicate it using SVM DR.

In this scenario, which two protocol configurations are replicated? (Choose two.)

A. CIFS

B. iSCSI

C.FC

D. NFS

Correct Answer: AD

Reference: https://library.netapp.com/ecm/ecm_get_file/ECMLP2496254

QUESTION 2

Users are unable to access data stored on an ONTAP cluster. The storage aggregate show command reports that the
aggregates are offline and wafl_inconsistent.

Which action would you perform to recover the aggregate?

A. Perform an aggregate copy and delete the source aggregate.

B. Execute the storage aggregate online command from the cluster shell.

C. Use file system recovery tools to recover the aggregate.

D. Execute the aggr online command from maintenance mode.

Correct Answer: C

QUESTION 3

Click the Exhibit button.
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A backup administrator notices throughput problems during backup jobs. While the job is running, you review the QoS

output for the target volume.

Referring to the exhibit, which statement is correct?
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A. The volume is encountering the QoS limit.
B. The network is slow.
C. The data layer of the controller is slow.

D. The traffic is going over an indirect path in the cluster.

Correct Answer: A

QUESTION 4

Which two statements are true about epsilon in a 4-node cluster? (Choose two.)
A. Epsilon is used as a tie-breaker for determining a quorum.

B. Epsilon is automatically assigned to the first node when a cluster is created.
C. Epsilon is used for determining the up node in failover.

D. Epsilon is automatically assigned to the last node added to a cluster.

Correct Answer:. AB

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
sag%2FGUIDEFE1DEF4-8B87-4C4A-8E4E-C6C79F760710.html

QUESTION 5

Click the Exhibit button.
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You are using the SnapCenter Plug-in for Microsoft SQL Server to back up a Microsoft SQL Server. Backups and
restores are functioning. However, restores for DB2 are slower than the other databases. The storage layout is shown in
the exhibit. DB2 is significantly larger than other databases in the environment.
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Referring to the exhibit, which two actions should be performed to decrease restore times for DB2? (Choose two.)
A. Move the DB2 data files to a dedicated LUN and volume.

B. Enable FlexClone technology for DB2.

C. Move the log directory to faster storage.

D. Move the DB2 transaction logs to a dedicated LUN and volume.

Correct Answer: BD
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